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Where do they get this V vector from. Why is this a general definition for a 3D-vector? 
Question is in red
The text is taken from here:
[bookmark: _GoBack]https://physics.stackexchange.com/questions/20201/how-are-the-pauli-matrices-for-the-electron-spin-derived
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Spin is an angular momentum, so in the rest frame it is a 3-dimensional vector, or 4-dimensional
vector with zero time component:

T = (v1,02,3)
Each 3D vector can be associated with a 2x2 matrix by the following rule:
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In particular, if you chosse  as a basis vector: 7 = (1,0,0), it is associated with matrix
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Similarly, for & = (0, 1,0) you will get
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and for & = (0,0, 1) you will get
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